X AN 33z ‘; R
2 11431;*1 iﬁ#ﬁﬁm% & ==> R2 2
1 NS: BREGH ﬁ%%(ﬁﬁ@ -4 7 NS: Alan SIA Diana SUN(H P:| 3.03 : 16.97| Total VP: 7.51 Rank:
EW: & £552=EA0) 21 EW: Radihike RYRN Sunn IMP:| 23 48 13
-
#1 a4 6SW7 -1010 Mean: 5NE7 520 9.0 1 |[|#2 a K 3NW3 -400 Mean: 4HE-2 100 10.0 1
v 65 6SW6 -980 -920  4SW7 510 9.0 1 o JT 4HE4 -420 -380 3HE4 170 5.0 2
o T942 Dif: -30 NS:-3 6SW6 980 -2.0 6 + KQT8632 Dif: 20 NS:-1 4HE4 420 1.0 2
» J98742 IMP: -1 EW:2 6SE6 980 20 2 » Q98 IMP: 1 EW:1  3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 3HE3 -140 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN6 170 Mean: 3NN4 630 10.0 1
v J74 4HE4 -620 -300 3HE3 140 40 1 v J2 3NN4 630 180  3HE-4 400 6.0 1
» K942 Dif: 480 NS:4 1NE3 150 40 6 + A8 Dif: -460 NS:0 1NS5 210 1.0 1
» 842 IMP: 10 EW:8 1NE4 180 3.0 1 » AT953 IMP: -10 EW:-10 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3HW-150 Mean: 3NS3 600 110 1 ||#6 a J73 4SW4 -620 Mean: 6SXW-3 800 140 1
v T84 3CS-1-100 40  1NS3 150 3.0 1 v AK4 6HXE-2 500 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: 150 NS:0 4HW-2 100 20 1 * T7 Dif: -1120 NS:-9 5SW-2 200 9.0 1
 T54 IMP: 4 EW:4 3CS3 110 20 1 » JT653 IMP: -15 EW:-12 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 3CXE-1200 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW4 -430 Mean: 5DW-2 100 70 1
v 86542 2SE3 -140 -130 2DW-2 200 80 1 v 97 3DE4 -130 -200  3NW-1 50 60 2
+ AK874 Dif: 340 NsS:8 3CE3 410 1.0 2 ¢ 65 Dif: -300 NS:-6 3DW3 410 3.0 2
a3 IMP: 8 EW:0 2DN-1 100 1.0 1 » 987543 IMP: -7 EW:-2 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q@5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 3SN4 170 Mean: 1NXE-5 1400 140 1 ||# 10 » AKQT7 5SXN5 850 Mean: 4SXN6 1190 13.0 1
v KJ 4SN5450 480  4SN5 450 1.0 6 v 6 4SXN6 1190 420  5SXN5 850 10.0 1
+ K6 Dif: -280 NS:-7 4SN4 420 20 6 ¢ 9864 Dif: -340 NS:10 4SN5 650 6.0 5
» 765 IMP: -7 EW:1 3SN4 170 7.0 1 » 853 IMP: -8 EW:-13 5HE-2 200 6.0 1
J5 s Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘ R
2 11431;*19_@?]7}%%%% & ==> R2 2
2 NS: FrIE ggﬁgzzm(sﬁo) -10 13 NS: #ifZ BREEE(BAC) -29 13.72 : 6.28 | Total VP: 29.24 Rank:
EW: BRZE( BE2EZ2EAC) 29 EW: EiEE k¥ (5H0) 10 IMP:| 22 11 3
E— -
#1 a4 6NE7 -1020 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HWS5 -450 Mean: 4HE-2 100 10.0 1
v 65 6SW6 -980 -920  4SW7 510 9.0 1 o JT 4HE5 -450 -380  3HE4 170 5.0 2
o T942 Dif: -40 NS:-3 6SW6 980 -2.0 6 + KQT8632 Dif: 0 NS:-2 4HE4 420 1.0 2
a J98742 IMP: -1 EW:2 6SE6 980 20 2 » Q98 IMP: 0 EW:2 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ ¢ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 -150 Mean: 4HE-1 100 90 1 |[|#4 » KT92 2SW-1100 Mean: 3NN4 630 10.0 1
v J74 1NE3 -150 -300 3HE3 140 40 1 v J2 1NS4 180 180  3HE-4 400 6.0 1
» K942 Dif: 0 NS:4 1NE3 150 40 6 + A8 Dif: -80 NS:-2 1NS5 210 1.0 1
» 842 IMP: 0 EW:-4 1NE4 180 3.0 1 » AT953 IMP: -2 EW:0 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ a K874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3HE-1 50 Mean: 3NS3 600 110 1 ||#6 a J73 6SXW-3 800 Mean: 6SXW-3 800 140 1
v T84 2HW3 -140 40  1NS3 150 3.0 1 v AK4 5HE5 -650 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: 190 NS:0 4HW-2 100 20 1 * T7 Dif: 1450 NS:14 5SW-2 200 9.0 1
 T54 IMP: 5 EW:5 3CS3 110 20 1 » JT653 IMP: 16 EW:10 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 3HXN-2 -500 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW3 -400 Mean: 5DW-2 100 70 1
v 86542 2NE3 -150 -130 2DW-2 200 80 1 v 97 3NW3 -400 -200  3NW-1 50 60 2
+ AK874 Dif: -350 NS:-9 3CE3 410 1.0 2 ¢ 65 Dif: 0 NS:-5 3DW3 410 3.0 2
a3 IMP: -8 EW:1 2DN-1 100 1.0 1 987543 IMP: 0 EW:5 3DE4 130 20 1
» KQT9 s A73 2CE2 9 1.0 1||aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN5 450 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 5HE-2200 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 420 480  4SN5 450 1.0 6 v 6 3SN5200 420 5SXN5 850 10.0 1
+ K6 Dif: 30 NS:-1 4SN4 420 20 6 ¢ 9864 Dif: 0 NS:-6 4SN5 650 6.0 5
» 765 IMP: 1 EW:2 3SN4 170 7.0 1 » 853 IMP: 0 EW:6 5HE-2 200 6.0 1
J5 » Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 114&;«1 &Wﬁﬁm% 2 ==> R2 2
3 NS: EER %EE}‘{(F;EJO) -3 9 NS: ﬁﬁ% BRIZEF(FAC) 10 1218 : 7.82 Total VP: 29.52 Rank:
EW: #4E 3 EEH0) 10 EW: 28X 38 MigF(H0) 3 IMP:| 28 22 2
-
#1 a4 6SW6 -980 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HE-2 100 Mean: 4HE-2 100 10.0 1
v 65 6SW6 -980 -920  4SW7 510 9.0 1 o JT 4HWS5 -450 -380 3HE4 170 5.0 2
¢ T942 Dif: 0 NS:-2 6SW6 980 20 6 + KQT8632 Dif: 550 NS:10 4HE4 420 1.0 2
» J98742 IMP: 0 EW:2 6SE6 980 20 2 » Q98 IMP: 11 EW:2 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVON L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 ANE3 -150 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN3 110 Mean: 3NN4 630 10.0 1
v J74 4HE4 -620 -300 3HE3 140 40 1 v J2 5CN-1-100 180  3HE-4 400 6.0 1
« K942 Dif: 470 NS:4 1NE3 150 40 6 + A8 Dif: 210 NS:-2 1NS5 210 1.0 1
» 842 IMP: 10 EW:8 1NE4 180 3.0 1 » AT953 IMP: 5 EW:7 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3CS3110 Mean: 3NS3 600 110 1 ||#6 a J73 5HE5 -650 Mean: 6SXW-3 800 14.0 1
v T84 3HW-150 40  1NS3 150 3.0 1 v AK4 4SW-2200 -220 6HXE-2 500 12.0 1
¢ 6432 Dif: 60 NS:2 4HW-2 100 20 1 * T7 Dif: -850 NS:-10 5SW-2 200 9.0 1
» T54 IMP: 2 EW:0 3CS3 110 20 1 » JT653 IMP: -13 EW:-9 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 2CE2 -90 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW-1 50 Mean: 5DW-2 100 70 1
v 86542 2DN-1-100 -130  2DW-2 200 80 1 v 97 5DW-2 100 -200  3NW-1 50 60 2
+ AK874 Dif: 10 NS:1  3CE3 410 1.0 2 ¢ 65 Dif: -50 NS:6 3DW3 410 3.0 2
a3 IMP: 0 EW:-1 2DN-1 100 1.0 1 987543 IMP: -2 EW:-7 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 405 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN4 420 Mean: 1NXE-5 1400 140 1 ||# 10 » AKQT7 1DE1 -70 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 420 480  4SN5 450 1.0 6 v 6 3SN5200 420 5SXN5 850 10.0 1
+ K6 Dif: 0 NS:-2 4SN4 420 20 6 ¢ 9864 Dif: -270 NS:-10 4SN5 650 6.0 5
» 765 IMP: 0 EW:2 3SN4 170 7.0 1 » 853 IMP: -7 EW:6 5HE-2 200 6.0 1
J5 s Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 11431;*1 i%}%ﬁm% & ==> R2 2
4 NS: 1281k R (]3?]0) 13 5 NS: §IH=7J< ZEREIR(PAC) 16 P:| 9.61 : 10.39| Total VP: 12.27 Rank:
EW: $E{&E& =HWEIC) -16 EW: fB{E3E EEHR(FO) -1 IMP:| 18 19 1
e
#1 a4 5NE7 -520 Mean: 5NE7 520 9.0 1 |[|#2 a K 4SXS-3 -800 Mean: 4HE-2 100 10.0 1
v 65 6SW6 -980 -920  4SW7 510 9.0 1 v JT 3HE4 170 -380 3HE4 170 5.0 2
o T942 Dif: 460 NS:9 6SW6 980 -2.0 6 + KQT8632 Dif: -630 NS:-9 4HE4 -420 1.0 2
» J98742 IMP: 10 EW:2 6SE6 980 20 2 » Q98 IMP: -12 EW:-5 3NW3 -400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 s J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HES5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®4Ve®N L, QT9865
N ~~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 -150 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3HE-4 400 Mean: 3NN4 630 10.0 1
v J74 1NE3 -150 -300 3HE3 140 40 1 v J2 4CN4 130 180  3HE-4 400 6.0 1
« K942 Dif: 0 NS:4 1NE3 150 40 6 + A8 Dif: 270 NS:6 1NS5 210 1.0 1
» 842 IMP: 0 EW:-4 1NE4 180 3.0 1 » AT953 IMP: 7 EW:2 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 ¢ QJ8 + K53 ¢+ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 2HE2 -110 Mean: 3NS3 600 110 1 ||#6 a J73 5HE-1 100 Mean: 6SXW-3 800 14.0 1
v T84 2HE2 110 40  1NS3 150 3.0 1 v AK4 4HE-1100 -220 6HXE-2 500 12.0 1
¢ 6432 Dif: 0 NS:-4 4HW-2 100 20 1 *T7 Dif: 0 NS:8 5SW-2 200 9.0 1
» T54 IMP: 0 EW:4 3CS3 110 20 1 » JT653 IMP: 0 EW:-8 4SW-2 200 9.0 1
a JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y 5HE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 + J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 1NE3 -150 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW3 -400 Mean: 5DW-2 100 70 1
v 86542 3CE3 -110 -130 2DW-2 200 80 1 v 97 2NE3 -150 -200  3NW-1 50 60 2
+ AK874 Dif: -40 NS:-1 3CE3 410 1.0 2 ¢ 65 Dif: -250 NS:-5 3DW3 110 3.0 2
a3 IMP: -1 EW:-1 2DN-1 100 1.0 1 » 987543 IMP: -6 EW:-2 3DE4 130 2.0 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT s AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
¢ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 405 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 -90 1 [|W ~32~3
#9 » AKT742 4SN5 450 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 4SN5 650 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 420 480  4SN5 450 1.0 6 v 6 4SN5 650 420  5SXN5 850 10.0 1
+ K6 Dif: 30 NS:-1  4SN4 420 20 6 ¢ 9864 Dif: 0 NS:6 4SN5 650 6.0 5
» 765 IMP: 1 EW:2 3SN4 170 7.0 1 » 853 IMP: 0 EW:-6 5HE-2 200 6.0 1
J5 s Q9 » 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®e¢vVeN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 11431;*1 i%}%ﬁm% & ==> R2 2
5 NS: ElEK @ﬁgﬂg(ﬁﬁ@ 16 4 NS: #iﬁéllli 2i2R(MOo) 13 P:| 10.39 : 9.61 Total VP: 14.21 Rank:
EW: 13{EH Frg7=(BH0) -13 EW: $E{2{ Si#(FC) 1 IMP:| 19 18 10
e
#1 a4 5NE7 520 Mean: 5NE7 520 9.0 1 |[|#2 a K 4SXS-3 800 Mean: 4HE-2 100 10.0 1
v 65 6SW6 980 -920  4SW7 510 9.0 1 v JT 3HE4 170 -380 3HE4 170 5.0 2
o T942 Dif: -460 NS:-2 6SW6 980 -2.0 6 + KQT8632 Dif: 630 NS:5 4HE4 -420 1.0 2
» J98742 IMP: -10 EW:-9 6SE6 980 20 2 » Q98 IMP: 12 EW:9 3NW3 -400 1.0 1
& AKT98763 s Q5 6SW7 1010 3.0 2 ||a A42 s J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HES5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®4Ve®N L, QT9865
N ~~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 150 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3HE-4 -400 Mean: 3NN4 630 10.0 1
v J74 1NE3 150 -300 3HE3 140 40 1 v J2 4CN4 -130 180  3HE-4 400 6.0 1
« K942 Dif: 0 NS:4 1NE3 150 40 6 + A8 Dif: -270 NS:-2 1NS5 210 1.0 1
» 842 IMP: 0 EW:-4 1NE4 180 3.0 1 » AT953 IMP: -7 EW:-6 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 ¢ QJ8 + K53 ¢+ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 2HE2 110 Mean: 3NS3 600 110 1 ||#6 a J73 5HE-1-100 Mean: 6SXW-3 800 14.0 1
v T84 2HE2110 40  1NS3 150 3.0 1 v AK4 4HE-1-100 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: 0 NS:-4 4HW-2 100 20 1 *T7 Dif: 0 NS:8 5SW-2 200 9.0 1
» T54 IMP: 0 EW:4 3CS3 110 20 1 » JT653 IMP: 0 EW:-8 4SW-2 200 9.0 1
a JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y 5HE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 + J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 1NE3 150 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW3 400 Mean: 5DW-2 100 70 1
v 86542 3CE3110 -130 2DW-2 200 80 1 v 97 2NE3 150 -200  3NW-1 50 60 2
+ AK874 Dif: 40 NS:1 3CE3 410 1.0 2 ¢ 65 Dif: 250 NS:2 3DW3 110 3.0 2
a3 IMP:1 EW:1 2DN-1 100 1.0 1 » 987543 IMP: 6 EW:5 3DE4 130 2.0 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT s AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
¢ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 405 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 -90 1 [|W ~32~3
#9 » AKT742 4SN5 -450 Mean: 1NXE-5 1400 140 1 ||# 10 » AKQT7 4SN5 -650 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 -420 480  4SN5 450 1.0 6 v 6 4SN5 -650 420  5SXN5 850 10.0 1
+ K6 Dif: -30 NS:-2 4SN4 420 20 6 ¢ 9864 Dif: 0 NS:6 4SN5 650 6.0 5
» 765 IMP: -1 EW:1 3SN4 170 7.0 1 » 853 IMP: 0 EW:-6 5HE-2 200 6.0 1
J5 s Q9 » 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®e¢vVeN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘ R
2 114E;*1£P€Hﬁ§m% & ==> R2 2
6 NS: BRZERE ﬁ{iﬁgﬁ(ﬁﬁm -5 1 1 NS: ﬁBEﬁE EB3E(FAC) -2( P:| 13.72 : 6.28 Total VP: 29.90 Rank:
EW: ZEes SEEEIC) 20 EW: SR BREISZ(FH0) 5 IMP:| 27 16 1
- -
#1 a4 6SW7 -1010 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HWS5 -450 Mean: 4HE-2 100 10.0 1
v 65 6SE6 -980 -920 4SW7 510 9.0 1 o JT 4HE5 -450 -380 3HE4 170 5.0 2
o T942 Dif: -30 NS:-3 6SW6 980 -2.0 6 + KQT8632 Dif: 0 NS:-2 4HE4 420 1.0 2
» J98742 IMP: -1 EW:2 6SE6 980 20 2 » Q98 IMP: 0 EW:2 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVON L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE-1 100 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN5 150 Mean: 3NN4 630 10.0 1
v J74 4HW4 -620 -300 3HE3 140 40 1 v J2 1NS5210 180  3HE-4 400 6.0 1
» K942 Dif: 720 NS:9 1NE3 150 40 6 + A8 Dif: -60 NS:-1 1NS5 210 1.0 1
» 842 IMP: 12 EW:8 1NE4 180 3.0 1 » AT953 IMP: -2 EW:-1 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3NS3 600 Mean: 3NS3 600 110 1 ||#6 a J73 4SW4 -620 Mean: 6SXW-3 800 140 1
v T84 4CS-1-100 40  1NS3 150 3.0 1 v AK4 4HE5 -650 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: 700 NS:11  4HW-2 100 20 1 * T7 Dif: 30 NS:-9 5SW-2 200 9.0 1
 T54 IMP: 12 EW:4 3CS3 110 20 1 » JT653 IMP: 1 EW:10 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 2SW3 -140 Mean: 3CXE-1 200 80 1 ||#8 a K53 3DW3 -110 Mean: 5DW-2 100 70 1
v 86542 2DS-2-200 -130 2DW-2 200 80 1 v 97 3DW3 -110 -200 3NW-1 50 60 2
+ AK874 Dif: 60 NS:0 3CE3 410 1.0 2 ¢ 65 Dif: 0 NS:3 3DW3 410 3.0 2
a3 IMP: 2 EW:2 2DN-1 100 1.0 1 » 987543 IMP: 0 EW:-3 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 405 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN4 420 Mean: 1NXE-5 1400 140 1 ||# 10 » AKQT7 1DE3 -110 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 420 480  4SN5 450 1.0 6 v 6 4SN5 650 420  5SXN5 850 10.0 1
+ K6 Dif: 0 NS:-2 4SN4 420 20 6 ¢ 9864 Dif: -760 NS:-11 4SN5 650 6.0 5
» 765 IMP: 0 EW:2 3SN4 170 7.0 1 » 853 IMP: -13 EW:-6 5HE-2 200 6.0 1
J5 s Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73 1DE1 -70  -10.0 1
» Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 114&;&*1 _?:W?}%‘ﬁm% & ==> R2 2
7 NS: Alan SIA Diana SUN(EE (¢)) 1 NS: I‘Eﬁ‘(}rﬂ SEE(FO) 4 P:/ 16.97 : 3.03 | Total VP: 25.47 Rank:
EW: Radihike RYRN Sunny LAN EW: % a8 ZHE(FC) -2 IMP:| 48 23 5
-
#1 a4 6SW7 1010 Mean: 5NE7 520 9.0 1 |[|#2 a K 3NW3 400 Mean: 4HE-2 100 10.0 1
v 65 6SW6 980 -920 4SW7 510 9.0 1 o JT 4HE4 420 -380 3HE4 170 5.0 2
o T942 Dif: 30 NS:-2 6SW6 980 -2.0 6 + KQT8632 Dif: -20 NS:-1 4HE4 420 1.0 2
» J98742 IMP: 1 EW:3 6SE6 980 20 2 » Q98 IMP: -1 EW:1  3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 s J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HES5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVON L2 ®4Ve®N L, QT9865
N ~~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 3HE3 140 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN6 -170 Mean: 3NN4 630 10.0 1
v J74 4HE4 620 -300 3HE3 140 40 1 v J2 3NN4 -630 180  3HE-4 400 6.0 1
« K942 Dif: -480 NS:-8 1NE3 150 40 6 + A8 Dif: 460 NS:10 1NS5 210 1.0 1
» 842 IMP: -10 EW:-4 1NE4 180 3.0 1 » AT953 IMP: 10 EW:0 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢+ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3HW-1-50 Mean: 3NS3 600 110 1 ||#6 a J73 4SW4 620 Mean: 6SXW-3 800 140 1
v T84 3CS-1100 40  1NS3 150 3.0 1 v AK4 6HXE-2 -500 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: -150 NS:-4 4HW-2 100 20 1 * T7 Dif: 1120 NS:12 5SW-2 200 9.0 1
» T54 IMP: -4 EW:0 3CS3 110 20 1 » JT653 IMP: 15 EW:9 4SW-2 200 9.0 1
a JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y 5HE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 + J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 3CXE-1-200 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW4 430 Mean: 5DW-2 100 70 1
v 86542 2SE3 140 -130 2DW-2 200 80 1 v 97 3DE4 130 -200 3NW-1 50 60 2
+ AK874 Dif: -340 NS:0 3CE3 410 1.0 2 ¢ 65 Dif: 300 NS:2 3DW3 410 3.0 2
a3 IMP: -8 EW:-8 2DN-1 100 1.0 1 » 987543 IMP: 7 EW:6 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT s AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
¢ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q@5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 -90 1 [|W ~32~3
#9 » AKT742 3SN4 -170 Mean: 1INXE-5 1400 14.0 1 [|# 10 » AKQT7 5SXN5 -850 Mean: 4SXN6 1190 13.0 1
v KJ 4SN5 -450 480  4SN5 450 1.0 6 v 6 4SXN6 -1190 420  5SXN5 850 10.0 1
+ K6 Dif: 280 NS:-1 4SN4 420 20 6 ¢ 9864 Dif: 340 NS:13 4SN5 650 6.0 5
» 765 IMP: 7 EW:7 3SN4 170 7.0 1 » 853 IMP: 8 EW:-10 5HE-2 200 6.0 1
J5 s Q9 » 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®e¢vVeN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘ R
2 114E;*E£ﬁl4ﬁﬁm% & ==> R2 2
8 NS: Z=E$HE gﬁ,@ﬂ(ﬁﬁ@ -40 1 4 S: 32fE M:FK(I%EJC) 8 P:| 0.67 : 19.33| Total VP: 12.17 Rank:
EW: FHL& BRERIFEEAC) -8 EW: 2108 $8Z5/=(BHO) 40 IMP:| 10 51 12
— -
#1 a4 6SE7 -1010 Mean: 5NE7 520 9.0 1 |[|#2 a K 3HE4 -170 Mean: 4HE-2 100 10.0 1
v 65 6SE6 -980 -920 4SW7 510 9.0 1 o JT 4HWS5 -450 -380 3HE4 170 5.0 2
¢ T942 Dif: -30 NS:-3 6SW6 980 20 6 + KQT8632 Dif: 280 NS:5 4HE4 420 1.0 2
» J98742 IMP: -1 EW:2 6SE6 980 20 2 » Q98 IMP: 7 EW:2 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 s J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE4 -620 Mean: 4HE-1 100 90 1 |[|#4 » KT92 4CN5 150 Mean: 3NN4 630 10.0 1
v J74 1NE4 -180 -300 3HE3 140 40 1 v J2 2NS4180 180  3HE-4 400 6.0 1
» K942 Dif: -440 NS:-8 1NE3 150 40 6 + A8 Dif: -30 NS:-1  1NS5 210 1.0 1
» 842 IMP: -10 EW:-3 1NE4 180 3.0 1 » AT953 IMP: -1 EW:0 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢+ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 2DS-1-100 Mean: 3NS3 600 110 1 ||#6 a J73 4HWS5 -650 Mean: 6SXW-3 800 14.0 1
v T84 1NS2120 40  1NS3 150 3.0 1 v AK4 4SW4 -620 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: -220 NS:-4 4HW-2 100 20 1 * T7 Dif: -30 NS:-10 5SW-2 200 9.0 1
» T54 IMP: -6 EW:-2 3CS3 110 20 1 » JT653 IMP: -1 EW:9 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 + J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 2CS-4 -400 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW3 -400 Mean: 5DW-2 100 70 1
v 86542 2DW-2 200 -130 2DW-2 200 80 1 v 97 2NW3 -150 -200  3NW-1 50 60 2
+ AK874 Dif: -600 NS:-7 3CE3 410 1.0 2 ¢ 65 Dif: -250 NS:-5 3DW3 410 3.0 2
a3 IMP: -12 EW:-8 2DN-1 100 1.0 1 987543 IMP: -6 EW:-2 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 405 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN5 450 Mean: 1NXE-5 1400 14.0 1 ||# 10 » AKQT7 3SN5 200 Mean: 4SXN6 1190 13.0 1
v KJ 1NXE-51400 480  4SN5 450 1.0 6 v 6 4HW-1100 420 5SXN5 850 10.0 1
+ K6 Dif: -950 NS:-1 4SN4 420 20 6 ¢ 9864 Dif: 100 NS:-6 4SN5 650 6.0 5
» 765 IMP: -14 EW:-14 3SN4 170 7.0 1 » 853 IMP: 3 EW:8 5HE-2 200 6.0 1
J5 s Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 1143;*1 i%}%ﬁm% & ==> R2 2
9 NS: =EE lﬁﬁﬁ(ﬁﬁ@ -10 3 NS: EEI $EEX(FOo) -3 P:| 7.82 : 12.18| Total VP: 27.04 Rank:
EW: 20 X 38 HREEFEBHO) 3 EW: #3048 #F{ZE(BAC) 10 IMP:| 22 28 4
-
#1 a4 6SW6 980 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HE-2 -100 Mean: 4HE-2 100 10.0 1
v 65 6SW6 980 -920  4SW7 510 9.0 1 o JT 4HW5 450 -380 3HE4 170 5.0 2
o T942 Dif: 0 NS:-2 6SW6 980 -2.0 6 + KQT8632 Dif: -550 NS:-2 4HE4 -420 1.0 2
a J98742 IMP: 0 EW:2 6SE6 980 20 2 » Q98 IMP: -11 EW:-10 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ ¢ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 150 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN3 -110 Mean: 3NN4 630 10.0 1
v J74 4HE4 620 -300 3HE3 140 40 1 v J2 5CN-1100 180  3HE-4 400 6.0 1
» K942 Dif: -470 NsS:-8 1NE3 150 40 6 + A8 Dif: -210 NS:-7  1NS5 210 1.0 1
» 842 IMP: -10 EW:-4 1NE4 180 3.0 1 » AT953 IMP: -5 EW:2 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ a K874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3CS3 -110 Mean: 3NS3 600 110 1 ||#6 a J73 5HE5 650 Mean: 6SXW-3 800 14.0 1
v T84 3HW-1-50 40  1NS3 150 3.0 1 v AK4 4SW-2 -200 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: -60 NS:0 4HW-2 100 20 1 * T7 Dif: 850 NS:9 5SW-2 200 9.0 1
 T54 IMP: -2 EW:-2 3CS3 110 20 1 » JT653 IMP: 13 EW:10 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 2CE2 90 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW-1-50 Mean: 5DW-2 100 70 1
v 86542 2DN-1100 -130  2DW-2 200 80 1 v 97 5DW-2 -100 -200  3NW-1 50 60 2
+ AK874 Dif: -10 NS:1 3CE3 410 1.0 2 ¢ 65 Dif: 50 NS:7 3DW3 410 3.0 2
a3 IMP: 0 EW:-1 2DN-1 100 1.0 1 987543 IMP: 2 EW:-6 3DE4 130 20 1
» KQT9 s A73 2CE2 9 1.0 1||aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q@5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN4 -420 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 1DE1 70 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 -420 480  4SN5 450 1.0 6 v 6 3SN5-200 420  5SXN5 850 10.0 1
+ K6 Dif: 0 NS:-2 4SN4 420 20 6 ¢ 9864 Dif: 270 NS:-6 4SN5 650 6.0 5
» 765 IMP: 0 EW:2 3SN4 170 7.0 1 » 853 IMP: 7 EW:10 5HE-2 200 6.0 1
J5 » Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘ R
2 114&;«13@214%%%% 2 ==> R2 2
1 O NS: B¢ 5’5@%(]3?]0) -8 12 NS: Bz &i H(BAC) 20 P:| 3.82 : 16.18| Total VP: 4.60 Rank:
EW: R.&85# fa[ZE(EAC) -20 EW: 8} {2 HE#E(FH0) 8 IMP:| 14 35 14
-
#1 a4 6SW6 -980 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HE4 -420 Mean: 4HE-2 100 10.0 1
v 65 4SW7 -510 920 4SW7 510 9.0 1 o JT 4HWS5 -450 -380 3HE4 170 5.0 2
o T942 Dif: -470 NS:-2 6SW6 980 -2.0 6 + KQT8632 Dif: 30 NS:-1 4HE4 420 1.0 2
» J98742 IMP: -10 EW:-9 6SE6 980 20 2 » Q98 IMP: 1 EW:2 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 3.0 2 ||a A42 a J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ ¢ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®4Ve®N L, QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE4 -620 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN5 150 Mean: 3NN4 630 10.0 1
v J74 1NE3 -150 -300 3HE3 140 40 1 v J2 3CN5150 180  3HE-4 400 6.0 1
» K942 Dif: -470 NS:-8 1NE3 150 40 6 + A8 Dif: 0 NS:-1  1NS5 210 1.0 1
» 842 IMP: -10 EW:-4 1NE4 180 3.0 1 » AT953 IMP: 0 EW:1 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢+ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ & K874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 4HW-2 100 Mean: 3NS3 600 110 1 ||#6 a J73 5HE5 -650 Mean: 6SXW-3 800 14.0 1
v T84 1NS3 150 40  1NS3 150 3.0 1 v AK4 5SW-2 200 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: -50 NS:2 4HW-2 100 20 1 * T7 Dif: -850 NS:-10 5SW-2 200 9.0 1
» T54 IMP: -2 EW:-3 3CS3 110 20 1 » JT653 IMP: -13 EW:-9 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y 5HE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 + J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 3CE3 -110 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW-150 Mean: 5DW-2 100 70 1
v 86542 1NN-2 -200 -130 2DW-2 200 80 1 v 97 3NW3 -400 -200 3NW-1 50 60 2
+ AK874 Dif: 90 NS:1  3CE3 410 1.0 2 ¢ 65 Dif: 450 NS:6 3DW3 410 3.0 2
a3 IMP: 3 EW:2 2DN-1 100 1.0 1 987543 IMP: 10 EW:5 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT s AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
¢ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q@5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 -90 1 [|W ~32~3
#9 » AKT742 4SN5 450 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 4SN5 650 Mean: 4SXN6 1190 13.0 1
v KJ 4SN5 450 480  4SN5 450 1.0 6 v 6 4SN5 650 420  5SXN5 850 10.0 1
+ K6 Dif: 0 NS:-1 4SN4 420 20 6 ¢ 9864 Dif: 0 NS:6 4SN5 650 6.0 5
» 765 IMP: 0 EW:1 3SN4 170 7.0 1 » 853 IMP: 0 EW:-6 5HE-2 200 6.0 1
J5 s Q9 » 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®e¢vVeN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 114E;*1 }_ﬁuﬁﬁm% & ==> R2 2
1 1 NS: EFEGR g;‘{)‘ﬁ(ﬁﬁ@ =20 6 NS: FREERE ﬁIFﬁﬁ(EﬁO) -5 P:| 6.28 : 13.72| Total VP: 22.67 Rank:
EW: R BEESZ(BEO) 5 EW: £/2 8% EE(E(EAC) 20 IMP:| 16 27 7
- -
#1 a4 6SW7 1010 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HWS5 450 Mean: 4HE-2 100 10.0 1
v 65 6SE6 980 -920 4SW7 510 9.0 1 o JT 4HE5 450 -380 3HE4 170 5.0 2
o T942 Dif: 30 NS:-2 6SW6 980 -2.0 6 + KQT8632 Dif: 0 NS:-2 4HE4 420 1.0 2
» J98742 IMP: 1 EW:3 6SE6 980 20 2 » Q98 IMP: 0 EW:2 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE-1-100 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN5 -150 Mean: 3NN4 630 10.0 1
v J74 4HW4 620 -300 3HE3 140 40 1 v J2 1NS5-210 180  3HE-4 400 6.0 1
» K942 Dif: -720 NsS:-8 1NE3 150 40 6 + A8 Dif: 60 NS:1 1NS5 210 1.0 1
» 842 IMP: -12 EW:-9 1NE4 180 3.0 1 » AT953 IMP: 2 EW:1 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3NS3 -600 Mean: 3NS3 600 110 1 ||#6 a J73 4SW4 620 Mean: 6SXW-3 800 140 1
v T84 4CS-1100 40  1NS3 150 3.0 1 v AK4 4HE5 650 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: -700 NS:-4 4HW-2 100 20 1 * T7 Dif: -30 NS:-10 5SW-2 200 9.0 1
 T54 IMP: -12 EW:-11 3CS3 110 20 1 » JT653 IMP: -1 EW:9 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 2SW3 140 Mean: 3CXE-1 200 80 1 ||#8 a K53 3DW3 110 Mean: 5DW-2 100 70 1
v 86542 2DS-2 200 -130 2DW-2 200 80 1 v 97 3DW3 110 -200 3NW-1 50 60 2
+ AK874 Dif: -60 NS:-2 3CE3 410 1.0 2 ¢ 65 Dif: 0 NS:3 3DW3 410 3.0 2
a3 IMP: -2 EW:0 2DN-1 100 1.0 1 » 987543 IMP: 0 EW:-3 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 405 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN4 -420 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 1DE3 110 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 -420 480  4SN5 450 1.0 6 v 6 4SN5 -650 420  5SXN5 850 10.0 1
+ K6 Dif: 0 NS:-2 4SN4 420 20 6 ¢ 9864 Dif: 760 NS:6 4SN5 650 6.0 5
» 765 IMP: 0 EW:2 3SN4 170 7.0 1 » 853 IMP: 13 EW:11 5HE-2 200 6.0 1
J5 s Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘ R
2 1143;*19_19?]7}%%%% & ==> R2 2
1 2 NS: B S ﬁﬁ;ﬁ(]%ﬁ@ 20 10 NS: Er@#?Fﬁ?(EﬁO) -8 P:| 16.18 : 3.82 | Total VP: 18.29 Rank:
EW: ¥ & PREEGHO) 8 EW: REi8 @it E(BAC) -2 IMP:| 35 14 9
-
#1 a4 6SW6 980 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HE4 420 Mean: 4HE-2 100 10.0 1
v 65 4SW7 510 -920  4SW7 510 9.0 1 o JT 4HW5 450 -380 3HE4 170 5.0 2
o T942 Dif: 470 NS:9 6SW6 980 -2.0 6 + KQT8632 Dif: -30 NS:-2 4HE4 420 1.0 2
a J98742 IMP: 10 EW:2 6SE6 980 20 2 » Q98 IMP: -1 EW:1 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ ¢ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE4 620 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN5 -150 Mean: 3NN4 630 10.0 1
v J74 1NE3 150 -300 3HE3 140 40 1 v J2 3CN5-150 180  3HE-4 400 6.0 1
» K942 Dif: 470 NS:4 1NE3 150 40 6 + A8 Dif: 0 NS:-1  1NS5 210 1.0 1
» 842 IMP: 10 EW:8 1NE4 180 3.0 1 » AT953 IMP: 0 EW:1 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ 4A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ a K874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 4HW-2 -100 Mean: 3NS3 600 110 1 ||#6 a J73 5HE5 650 Mean: 6SXW-3 800 14.0 1
v T84 1NS3 -150 40  1NS3 150 3.0 1 v AK4 5SW-2 -200 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: 50 NS:3 4HW-2 100 20 1 * T7 Dif: 850 NS:9 5SW-2 200 9.0 1
 T54 IMP: 2 EW:-2 3CS3 110 20 1 » JT653 IMP: 13 EW:10 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 3CE3 110 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW-1-50 Mean: 5DW-2 100 70 1
v 86542 1NN-2200 -130 2DW-2 200 80 1 v 97 3NW3 400 -200 3NW-1 50 60 2
+ AK874 Dif: -90 NS:-2 3CE3 410 1.0 2 ¢ 65 Dif: -450 NS:-5 3DW3 410 3.0 2
a3 IMP: -3 EW:-1 2DN-1 100 1.0 1 987543 IMP: -10 EW:-6 3DE4 130 20 1
» KQT9 s A73 2CE2 9 1.0 1||aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q@5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN5 -450 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 4SN5 -650 Mean: 4SXN6 1190 13.0 1
v KJ 4SN5 -450 480  4SN5 450 1.0 6 v 6 4SN5 -650 420  5SXN5 850 10.0 1
+ K6 Dif: 0 NS:-1  4SN4 420 20 6 ¢ 9864 Dif: 0 NS:6 4SN5 650 6.0 5
» 765 IMP: 0 EW:1 3SN4 170 7.0 1 » 853 IMP: 0 EW:-6 5HE-2 200 6.0 1
J5 » Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 11434;*1 i%}%ﬁm% & ==> R2 2
1 3 NS: ¥i==1% ﬁﬁ%@ﬁ@ 29 2 NS: msé & 4(B0) - 11 P:| 6.28 : 13.72| Total VP: 21.08 Rank:
EW: #ias Fk%EH0) 10 EW: BRZED BREZ(BAC) 2 IMP:| 11 22 8
— -
#1 a4 6NE7 1020 Mean: 5NE7 520 9.0 1 |[|#2 a K 4HWS5 450 Mean: 4HE-2 100 10.0 1
v 65 6SW6 980 -920 4SW7 510 9.0 1 o JT 4HE5 450 -380 3HE4 170 5.0 2
o T942 Dif: 40 NS:-2 6SW6 980 -2.0 6 + KQT8632 Dif: 0 NS:-2 4HE4 420 1.0 2
& J98742 IMP: 1 EW:3 6SE6 980 20 2 » Q98 IMP: 0 EW:2 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 || Ad2 » J73 4HW5 450 20 5
v K v J432 6SE7 <1010 -3.0 1 ||v K86 | v AQ9543 4HE5 450 20 2
+ K + AQJ6 6NE7 1020 3.0 1 ||e AJ * 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®¢VveN ,J2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 150 Mean: 4HE-1 100 90 1 |[|#4 » KT92 2SW-1-100 Mean: 3NN4 630 10.0 1
v J74 1NE3 150 -300 3HE3 140 40 1 v J2 1NS4 -180 180  3HE-4 400 6.0 1
» K942 Dif: 0 NS:4 1NE3 150 40 6 + A8 Dif: 80 NS:0 1NS5 210 1.0 1
» 842 IMP: 0 EW:-4 1NE4 180 3.0 1 » AT953 IMP: 2 EW:2 3CN6 170 00 1
a J72 4 AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢gA N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ 4A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3HE-1-50 Mean: 3NS3 600 110 1 ||#6 a J73 6SXW-3 -800 Mean: 6SXW-3 800 14.0 1
v T84 2HW3 140 40  1NS3 150 3.0 1 v AK4 5HE5 650 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: -190 NS:-5 4HW-2 100 20 1 * T7 Dif: -1450 NS:-10 5SW-2 200 9.0 1
 T54 IMP: -5 EW:0 3CS3 110 20 1 » JT653 IMP: -16 EW:-14 4SW-2 200 90 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_ v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 3HXN-2 500 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW3 400 Mean: 5DW-2 100 70 1
v 86542 2NE3 150 -130 2DW-2 200 80 1 v 97 3NW3 400 -200 3NW-1 50 60 2
+ AK874 Dif: 350 NS:-1 3CE3 410 1.0 2 ¢ 65 Dif: 0 NS:-5 3DW3 410 3.0 2
a3 IMP: 8 EW:9 2DN-1 100 1.0 1 # 987543 IMP: 0 EW:5 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1||aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 *Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN5 -450 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 5HE-2 -200 Mean: 4SXN6 1190 13.0 1
v KJ 4SN4 -420 480  4SN5 450 1.0 6 v 6 3SN5-200 420 5SXN5 850 10.0 1
+ K6 Dif: -30 NS:-2 4SN4 420 20 6 ¢ 9864 Dif: 0 NS:-6 4SN5 650 6.0 5
» 765 IMP: -1 EW:1 3SN4 170 7.0 1 » 853 IMP: 0 EW:6 5HE-2 200 6.0 1
J5 » Q9 # 962 a8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




X AN 33z ‘; R
2 114&;«1 &Wﬁﬁm% 2 ==> R2 2
1 4 NS;{%EEJHFF?&(E@C)S 8 NS: Zif3] KEBE#E(E%O) -4 P:| 19.33 : 0.67 Total VP: 24.53 Rank:
EW: B2 #HZ5=BEH0) 40 EW: S HE& RXIR(FC) -8 IMP:| 51 10 6
I -
#1 a4 6SE7 1010 Mean: 5NE7 520 9.0 1 |[|#2 a K 3HE4 170 Mean: 4HE-2 100 10.0 1
v 65 6SE6 980 -920 4SW7 510 9.0 1 o JT 4HW5 450 -380 3HE4 170 5.0 2
o T942 Dif: 30 NS:-2 6SW6 980 -2.0 6 + KQT8632 Dif: -280 NS:-2 4HE4 -420 1.0 2
» J98742 IMP: 1 EW:3 6SE6 980 20 2 » Q98 IMP: -7 EW:-5 3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 3.0 2 ||a A42 a J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVON L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE4 620 Mean: 4HE-1 100 90 1 |[|#4 » KT92 4CN5 -150 Mean: 3NN4 630 10.0 1
v J74 1NE4 180 -300 3HE3 140 40 1 v J2 2NS4 -180 180  3HE-4 400 6.0 1
» K942 Dif: 440 Ns:3 1NE3 150 40 6 + A8 Dif: 30 NS:0 1NS5 210 1.0 1
» 842 IMP: 10 EW:8 1NE4 180 3.0 1 » AT953 IMP: 1 EW:1 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 2DS-1100 Mean: 3NS3 600 110 1 ||#6 a J73 4HW5 650 Mean: 6SXW-3 800 14.0 1
v T84 1NS2-120 40  1NS3 150 3.0 1 v AK4 4SW4 620 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: 220 NS:2 4HW-2 100 20 1 * T7 Dif: 30 NS:-9 5SW-2 200 9.0 1
 T54 IMP: 6 EW:4 3CS3 110 20 1 » JT653 IMP: 1 EW:10 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 2CS-4 400 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW3 400 Mean: 5DW-2 100 70 1
v 86542 2DW-2 -200 -130 2DW-2 200 80 1 v 97 2NW3 150 -200  3NW-1 50 60 2
+ AK874 Dif: 600 NS:8 3CE3 410 1.0 2 ¢ 65 Dif: 250 NS:2 3DW3 410 3.0 2
a3 IMP: 12 EW:7 2DN-1 100 1.0 1 987543 IMP: 6 EW:5 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 405 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 4SN5 -450 Mean: 1NXE-5 1400 14.0 1 [|# 10 » AKQT7 3SN5 -200 Mean: 4SXN6 1190 13.0 1
v KJ 1NXE-5 -1400 480  4SN5 450 1.0 6 v 6 4HW-1 -100 420  5SXN5 850 10.0 1
+ K6 Dif: 950 NS:14 4SN4 420 20 6 ¢ 9864 Dif: -100 NS:-8 4SN5 650 6.0 5
» 765 IMP: 14 EW:1 3SN4 170 7.0 1 » 853 IMP: -3 EW:6 5HE-2 200 6.0 1
J5 s Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~




